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1.  

 
 
 
 
 
 
 
 
 
 
 
 

2.   
    

 2   ... (1)  x  ... (2) 
 y 

 

  
    ... 

 y =  x 
 
 
 
 

 

v  = t
S  

 
 -  
 -  
 -  
 - 

 
 v  = u  + ta  

 S  = 2
uv   t 

 S  = tu  + 2ta2
1  

 S  = tv  - 2ta2
1  

 2v  = 2u  + Sa2   



 

   25 ______________________________   (35) 

 
  ( ) 

 

  
   
 

  yS  = yU  + 2ta2
1   0 = (U sin )t + 2

1 (-g)t2    t  = g
sin 2U  

   x  
  

  xS  = tUx   xS  = (U cos ) g
sin 2U    xS  = g

)sin(2 U2
 

   y  
 

  2
yv  = 2

yu  + 2 sg   0 = (u sin )2 + 2 ysa    yS  = 2g
sin U 22

 

 

3. - -  

 
 1.  F = 0   ( )  !!! 
 2.  F  0   ( )  !!! 
 3. Action = Reaction 
 
 
  2  
 I.  
 II.   I. 
 III. F = ma 
 
    ***  2  Newton 
      F  a    a  + 
     a  ( ) 
 
 

Newton’s Laws 
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   
   

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

4.   
      
 
 
 
 
 
 
 

 
 
 
 
 
 *   

   

 ... 

F  2
21

r

mm
  F = 2

21

r

mGm
 

 G =  = 6.67  10-11 Nm2/kg2 

 m1 =  (kg) 

 m2 =  (kg) 

 r =  

   = 0 m/s2 
  F = 0 N 

  
1.  
2.  
3.  

 = 0 rad/S2 
  M = 0 N  m 

  
1.  
2.  
3.  
4.  
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5.   
 

 (Work)

 S
W  =  F  S

 (Energy)

 /
 

 
  
  
 
 
 
 

6.  

 

  
 
 
  (P)  =   (m)   (v) 
 
  

 
 

   

 

 

 

 

 

 ( )  ... ... 
  =   = = P = 2P - 1P

    (

) ... 

 
1.    
2.   

 

 

F 
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    (   ) 

  
 (e) ... 

 
 
 
 
 
 
   e = 1 
   e = 0 

F   t  =  2P  - 1P  

 F  =   t =  

 2P  =   = 2vm  1P  =   = 1vm  

      2P  = 1P  
 

  

 ...  

... P  = P    

0  =  1P  + 2P  + 3P  + 4P  + ... 

e = 
21
12

u  u
 v v

-
-

  !!!  1  

v2 =  v1 =  

u2 =  u1 =  
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 PAT 2 ( ) 
 

  
 
1.   1   
  “  ...” 

(  2554) 
  1)   
  2)  
  3)   
  4)     
2.   

  
 (  2554) 

 

  1)   2)  

 

  3)   4)  
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3.   
   (   2550) 

 

  1) 

  

  2) 

 
 

  

3) 

  

  4)  

 
4.    

 (  2552) 
        
         
 
  1)   2) 

 
 
  3)   4) 

 
 
5.   40 /   30     

 (   2546/2)   
  1) 160 3  m     
  2) 140 3  m   
  3) 100 3  m     
  4) 80 3  m  
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6.   
 (   2546/1) 

  1) tan-1(2)   
  2) tan-1(4) 
  3) cot-1(2) 
  4) cot-1(4)  
7.   4    

A, B, C  D     
 (   2543) 

 

A B C D
 

 
  1) A   
  2) B 
  3) C   
  4) D  
8.   8   2.0   0.8  

  2    
/  (   2543) 

 

0.8 m

2.0 m

8 g
2.0 kg
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9.   5  
 10 /   60   

 (   2542) 
  1) 1    
  2) 3   

  3) 2
3

    
  4) 

3
2  

 
10.    12  132 m 

 20  200 m/s  14  
11.   a   t    

  3.0 m/s  20 
 

 

2

0 10 20
t (s)

4
a (m/s )2

5 15
-2

  
  1) -12 m/s   
  2) +12 m/s 
  3) -15 m/s   
  4) +15 m/s  
12.   10   11 

 195   
  1) 13.45 m  s-1   
  2) 30.50 m  s-1 
  3) 90.00 m  s-1   
  4) 110 m  s-1  
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13.   
 

 
S ( )

t ( )0
1t

3t 4t
2t

  
   1.  t1  
   2.  t2  
   3.  t1  t3  
   4.  t2   t4  
   5.  t4  
   
  1)  1., 2.  5.    
  2)  2., 3.  4.  
  3)  3., 4.  5.    
  4)  3.  5.  
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1.   2 kg  4 kg  

 0.4  0.2 
  4 kg   2 kg 

 4 kg  (  2554)  
2.    F 

 2 N  (  2554) 
 

2 N
F

 
  1)  2 N 
  2)  2 N 
  3)  2 N 
  4)  F  2 N  
3.         

  (  2554) 
  1)  
  2)  
  3)  
  4)   
4.   

 (  2553) 
  1)  
  2)  
  3)  
  4)  
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5.       40   20     
      0.2 

  (  2553) 

 
  1) 20     
  2) 40 
  3) 60     
  4) 80  
6.   

 (  2553) 
  1)  
  2)  
  3)  
  4)   
7.   m1  8.0 / 2 

 m2  m2  48   2  
 m2  m1  (  2553) 

  1) 1 : 1   
  2) 1 : 2 
  3) 1 : 3   
  4) 1 : 4  
8.   F  40   2   

 0.5   F  (  2553) 
 

F

30
 

  1) 12.4     
  2) 17.3 
  3) 24.8     
  4) 34.6  
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9.   1,000   72 /   10  
 (   2550) 

  1) 1,000 N   
  2) 2,000 N 
  3) 3,600 N   
  4) 7,200 N  
10.   a  45   

 (   2548/1)  

  1) g
a2  1 -

    

  
2) a

g2  1 -
  

  
3) g

a2  1
    

  
4) a

g2  1  
 
11.   2   10   4 

2  9   (   2548/1) 
  1) 90 J 
  2) 72 J 
  3) 36 J 
  4) 18 J  
12.   a1 2  t  

 a2 
2  

  (   2548/1) 

  1) 
2
1

a
a

t 
 

  2) 
1
2

a
a

t 
 

  3) 
2

21
a

a  a
t   

 

  4) 
1

21
a

a  a
t 
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13.   m1, m2  m3   m1 
  T  m2  m3  (   2548/1) 

 

T
g

3m 2m

1m

  

  1) 
321

31
m  m  m

gmm

    
2) 

321

312
m  m  m
)gm(mm

  

  3) 
321

21
m  m  m

gmm

    
4) 

321
213
m  m  m
)gm(mm

 
 
14.  m1, m2, m3  A, B, C  ,  B  C 

(   2547/2) 
 

1
m

F
A

B
C

2
m

3
m

   
 

  1) 
321

31
m  m  m

m  m
F    2) 

321
32
m  m  m

mm
F 

 

  3) 
321

2
m  m  m

m
F    4) 

321
3

m  m  m
m

F 
 
15.   m     a  2m 

  
  (   2547/2) 
  1) 0.5a     2) a 
  3) 1.5a     4) 2a  
16.   80            

3 /   4 /   1  
 50   1  

  (   2546/1) 
  1) 1.0 m/s    2) 1.2 m/s 
  3) 1.4 m/s    4) 1.6 m/s  
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17.   m1  m2    F    
 m1  a  f 

  F   m2  m1 
  (   2546/1) 
 

F

a

m2

m1

f

  

  1) 
1
2

m
m

f   
 

  2) 
21

2
m  m

m
f 

 

  3) 
2
1

m
m

f    
 

  4) 
2

21
m

m  m
f 

 
18.   2   1   

 2 2  T1  T2 (   2543) 
 

1 kg

1 kg

2

T
1

T2 2 m/s

  
  1) T1 = 16 N  T2 = 8 N 

  2) T1 = 20 N  T2 = 10 N 

  3) T1 = T2 = 20 N   

  4) T1 = 24 N  T2 = 12 N 
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19.   A  20 kg  B  5 kg  
 C  C  A  B  C 

 

 
  1) 1.0 2    
  2) 2.5 2  
  3) 5.0 2    
  4) 10.0 2   
20.   50 kg  1 m/s2 

  150  
  

21.   
  1)   
  2)  
  3)     

 
  4)  

   
22.   1W    4W  

   

 
 

  
  1) 1W   2T   1T   2T   2) 1T   2T   3T   4T  

  3) 3T   4T   N  4W   4) N  4W   1W   1T  
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1.   2L  2W    

  2   (1/3)L   
 (  2553) 

 

 

L

 
B AL/3

L/4

L

  
  1)    
  2)  A  (4/3)W    
  3)  B  (4/3)W    
  4)  B  (4/3)W     
2.   A  B 

 2 : 1  B  2  A 
 A  B (  2553) 

  1) 0.5    2) 1 
  3) 2    4) 4  
3.   1,000   20   250         

   10  (  2552) 
 

10 
20 

  
  1) 25g 3     2) 25g 
 
  3) 25g 2      4) 25g/ 2  
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4.   W      
  (   2550) 

 

T
g

30
  

  1) 
3

W

   
  2) 3W 
 
  3) 2 W    
 
  4) 

2
W  

 
5.   1   80   9  1010  

/   45   (   2550) 
  1) 0.04 mm  
  2) 0.4 mm 
  3) 4 mm   
  4) 40 mm  
6.   90   10  

 0.5   600      
 (   2549) 

  1) 0.12 m   
  2) 0.25 m 
  3) 0.50 m   
  4) 0.75 m  
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7.   100    140 N    
 (   2547/2) 

 

 

140 N

  
  1) 840   
  2) 980 
  3) 990   
  4) 1,120  
8.   3   100   P  9  

 5     
2  P  x  (   2547/1) 

 

2 kg 5 kg
9 kg

x

P40 cm 60 cm

  
  1) 30 cm   
  2) 25 cm 
  3) 15 cm   
  4) 10 cm  
9.   40   100 /         

2    
  (   2547/1) 

  1) 20    
  2) 40  
  3) 50    
  4) 60  
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10.   m  M (M  m)     
     

     (   2546/2) 
 

Mm

T

  

  1) m  M
m  M -  tan     

 

  2) m  M
m  tan   

 

  3) m  M
M  tan     

 
  4) tan  
 
11.   10    F 

 30   (   2544) 
 

30
o

F
  

  1) 
3

50  N    
 
  2) 

3
100  N 

 
  3) 50 3  N    
 
  4) 100 3  N 
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12.   4   45   
 0.25  

  (   2544) 
 

4 kg
45

o

  
  1) 45.7 N   
  2) 58.8 N 
  3) 75.4 N    
  4) 91.4 N  
13.   F = 160   40  90  

  (x)    
120   40   (   2544)   

 

x

mg

0.9 m

1.2 m

F

x
2

  
14.   5  

 200   (Stress) 
 2.0 ( )2 (   2544) 

  1) 64  106 N/m2   
  2) 48  106 N/m2  
  3) 40  106 N/m2   
  4) 32  106 N/m2  
 
 
 
 



 

   25 ______________________________   (55) 

15.   2   100   
 40   

  (   2543) 
 

  
  1) 120  220 N   
  2) 130  230 N 
  3) 140  240 N   
  4) 150  250 N  
16.   400   10   2  10-4 2 

 (  2  1011 / 2) 
  (   2542) 
  1) 0.1 cm   
  2) 0.2 cm 
  3) 1.0 cm   
  4) 2.0 cm  
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1.    (  2554) 

 

g

R

2gR  
 
2.    

 h 
  (  2552) 

 

 m  v  m 
 h

m

m
v h

 
 

  1)   
  2)  -

 
  3)   
  4)    
3.   80   10 /   20  

 20   20  
  (   2548/1) 
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4.   k1  k2   m 
   d  k1  (   2548/1) 

 

1k

m

2k

  

  1) 
2
1

k
k

d  
 

  2) 
1
2

k
k

d 
 

  3) 
21

2
k  k

k
d   

 

  4) 
21

1
k  k

k
d 

 
5.   m   h  T 

 (   2547/2)  

  1) T
mgh

   
 

  2) 2T
mgh

  

  3) m
2T

2h  g T
2h    

 

  4) m
2T

2h  g T
h  

 
6.   5,000   20 /  

 50   (   2547/1) 
  1) 5,000 N   
  2) 10,000 N 
  3) 20,000 N   
  4) 40,000 N 
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7.   x  x = 0  x = 10        
4      
(   2547/1) 

 
F (N)

x (m)

20

40

0

-20
2 4 6 8 10 12

  
  1) 20    
  2) 30  
  3) 40    
  4) 50   
8.   1,500   10 /   30 /  

 5   (   2546/2) 
  1) 15 kW    
  2) 120 kW  
  3) 135 kW    
  4) 150 kW  
9.   40   100    500  

  (
) (   2546/2)  
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10.   0.25   10   
    

100 /  (   2546/2) 
 

10 cm

0.25 kg

  
  1) 1.0 m/s   
  2) 1.4 m/s 
  3) 2.0 m/s   
  4) 2.4 m/s  
11.   40  130  

 0.3  5    
  (   2546/1) 
  1) 50 J   
  2) 100 J 
  3) 150 J   
  4) 300 J  
12.   50   1.25  

 0.8   (   2546/1) 
  1) 0.45 kg m/s   
  2) 0.80 kg m/s 
  3) 0.90 kg m/s   
  4) 1.60 kg m/s  
13.   0.4   1.5     

5 /   1  4 /  
 1  (   2546/1) 

  1) 1.5 J   
  2) 1.8 J 
  3) 2.0 J   
  4) 3.6 J   
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14.   2   30% 
 (   2544) 

  1) 0.6 m   
  2) 1.2 m 
  3) 1.4 m   
  4) 2.0 m  
15.   0.5   2,000  

 180 /   25% 
  (  

 500 J/kg  K) (   2543)  
16.   50  

 (   4.2  103 J/kg  K)  
  (   2544) 
  1) 0.12 C   
  2) 0.21 C 
  3) 4.2 C   
  4) 8.4 C  
17.   7.2 /   90 /

  1   3.4  107   25%  
  (   2543) 

  1) 17 kW  
  2) 34 kW  
  3) 54 kW  
  4) 60 kW  
18.   0.5   2.0  

 200  
 (   2543)  

  1) 10 cm   
  2) 20 cm 
  3) 30 cm    
  4) 40 cm  
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19.   12   5  
  200   

  (   2543) 
  1) 4,800 N   
  2) 6,000 N 
  3) 9,600 N   
  4) 12,000 N  
20.   1   10   

 50    
  (   2542) 
  1) 8 N/m   
  2) 10 N/m 
  3) 800 N/m   
  4) 1,000 N/m  
21.   150   30      

1   1   
  (   2542) 
  1) 1.0  104 J   
  2) 1.2  104 J  
  3) 1.5  104 J   
  4) 4.5  104 J 
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 (Fluid Mechanics) 

 
 
 
 
 
 
 
 
 
 
 
 
 

1.  (Density) 
 
   ( )  1     
 

     = V
m  

 
  
 -  2   g/cm3  kg/m3  
 -  1 g/cm3  1,000 kg/m3  
 
 
 
 
 
 

 

 

 

 (Specific Gravity)   
    SG = 1.5 

 1.5   1.5 g/cm3 

  Gas 
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2.  

    1   ... 
 

    P = A
F  

    P =   N/m2  Pascal  
 
   h 

 ... 
 

 
 

P  =  A
F   =  A

mg
  =  A

V)g(
  =  A

Ah)g(
  =  gh 

 
  
 
 
 “    

“
”” 

 
 
 
 
 
 
 
 
 
 
 
 

 U 
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 F = PA   

  P   

    P  = 2
)P(P
 

 
   

    F = 2
)P(P
  A 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

3.  

  ...
... 

   “ ” 
 
     
    FB = mLg = LV g 
 
 
 Note 
 -    
 -    
 
 
  ***  *** 
 1.  ( ) 
 2.  

 

 (Buoyancy) 
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4.  

 

1.  

2.  

2211 vA  vA

Bernoulli Equation

2
2
221

2
11 P  v(1/2)  gh  P  v(1/2)  gh
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1.    vA 

 u  0   vB 
 (  2554) 

  1) vA  vB  vB  vA + u 
  2) vB = vA + u 
  3) vA = vB   
  4) vB = vA - u  
2.    N1  

 N2   (  2554)  

  1) 
21

1
N  N

N
-    

 

  2) 
21

2
N  N

N
-   

  3) 
1

21
N

N  N    
 

  4) 
2

21
N

N  N
 

 
3.   R  V  r 

 v  (  2553) 
  1) rv = RV   
  2) rV = Rv 
  3) r2v = R2V   
  4) r2V = R2v  
4.   49   500  

 
 (  2553) 

  1) 5   
  2) 10 
  3) 50   
  4) 100  
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5.   A  1.2  B  B 
 0.6   A 

 A  (  2553) 
  1) 0.4   
  2) 0.5 
  3) 0.6   
  4) 0.8  
6.   2   r  R  

 r  v  R  (  2553)  
  1) R

rv
   

  
2) r

Rv
  

  
3) 

2

2

r
vR

   

  4) 
2

2

R
vr

  
7.     V   

 (  2553) 
  1) (  - )Vg    
  2) (  + )Vg  

  3) 
2

Vg   
 

  4) 
2

Vg 

 
8.    

   (  2553) 
  1)    
  2)  
  3)   
  4)   
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9.    h  
 v  h  (  2553)  

  1) v  h     

  
2)

 
v  h 

 
  3) v  h    
  4) v  h  
 
10.   10  10  10   (  1,025 /

)   (  1,000 / ) 
 (   2550) 

  1)   
  2)  0.25 cm 
  3)  1.025 cm   
  4)   
11.   A  v  P 

 2
A  ( ) (   2550) 

 

 A

v

2
A

  
  1) P - 2

3  v2    
 
  2) P - 2

1  v2  
 
  3) P + 2

1  v2    
 
  4) P + 2

3  v2  
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12.   X  Y   X  2  Y      
 (   1,000 

/ ) (   2549) 
 

x y

50 mm 100 mm

T T

  
  1) 200 kg/m3    
  2) 500 kg/m3  
  3) 1,000 kg/m3    
  4) 1,500 kg/m3   
13.   12%  /

 (   2548/1)  
14.   1.5  105  

  (   1,000 
) (   2547/1) 

  1) 10 m   
  2) 15 m  
  3) 20 m   
  4) 25 m  
15.   2.0   40 /  

  1.0  
( ) (   2547/1)  

16.   1,430   10   v 
  v  1.2v  

 (   1.3 
) (   2546/2) 

  1) 60 m/s   
  2) 65 m/s 
  3) 71 m/s   
  4) 80 m/s  
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17.   800  

 1,000   25   
 1,000  

 100   (   2544) 
  1) 230 N   
  2) 250 N 
  3) 270 N   
  4) 290 N  
18.   8   10  

  (   2543) 
  1) 25%   
  2) 34% 
  3) 56%   
  4) 64%  
19.   1,000 /    1   

4    /  
  (   2543)  
20.   A  B  B  1.5  A 

  A  B  A 
  B   B 

 (   2543)  
  1)  4

1   
 
  2)  2

1   
  
  3)  4

3   
 
  4)  
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21.    0.8 
  10  

 (   2543) 
  1) 0.2 cm   
  2) 0.4 cm 
  3) 0.8 cm   
  4) 2 cm  
22.    

 5   0.8   
  

  1) 0.4 m3   
  2) 6.25 m3 
  3) 9.0 m3   
  4) 25.0 m3 
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 (HEAT)  

 
 
 
 “  (T- )/( - )  

” 
 
 
 

                        

 (Q)

TmcQ 

mLQ 
 

 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

 

 

  

 C  

 
 
 
 
   

 
  

 I.  

 II.  ( )  

 

T T

T  
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 PV = nRT  (R = Universal Gas Constant = 8.314 J/mol.K) 

    

 Ek = (3/2)PV =  (3/2)nRT 

 

 

 1  (Thermodynamics) 
 
 Thermo =  
 Dynamics =   
   1   

 (Heat, Q)  (Internal Energy, U)  
(Work, W)  

Q 

 
 
   “  + ” 
 
 
 
 
 
 
 
 
 
 
 
 

  

Q  =  U + W 



 

  (74) _____________________________   25  

  “  + ” 
 
 
 U :  U :  
 
 
  
 
 U = 2 - 1  
 U = 2

3 P2V2 - 2
3 P1V1  

 
 U = 2

3 n2RT2 - 2
3 n1RT1  W = P V   P  

    W = PdV =  P - V 
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1.   15   22                

42    (  
 = 4.2 /     1 -   

5 ) (    2550) 
  1) 0.18    
  2) 1.20   
  3) 1.75    
  4) 2.50   
2.   0 C  5   50  

 
 5   200  

 336 /   (   2549) 
  1) 58 W   
  2) 112 W 
  3) 140 W   
  4) 168 W  
3.    
   .  
   .  
   .  
   .  
   (   2549) 
  1) ., .  .   
  2) ., .  . 
  3) .    
  4)   
4.   27  

 77                
 (   2548/1) 

  1) 14.3%    
  2) 16.7% 
  3) 83.3%   
  4) 85.7%  
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5.   3 C 

  15 C  Kkg
kJ

  
 (

 = 4.18 Kkg
kJ

  
) (   2547/2) 

  1) 0.418   
  2) 0.836 
  3) 1.07   
  4) 2.09  
6.   A  B  (   2547/2) 
 

4
10  4

P (Pa)

B A

0.1 0.2 0.3
)(m V

3
0

  
7.   T  (  

 4 ) (   2547/1) 
  1) 4kB(T - 273)  
  2) kBT  
  3) 2

3 kBT 

  4) 4kBT  
8.   1   0   100   

1.0  105   (   2547/1) 
  1) 415 J   
  2) 830 J 
  3) 1,245 J   
  4) 2,075 J  
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9.   
 Vrms  Vrms  (

 2   32  ) (   2546/2) 
  1) 1    
  2) 2  
  3) 3    
  4) 4  
10.   

 
 (   2544)  

11.   27 C  37 C 
  2,000  (   2543) 

  1) 65  
  2) 940 
  3) 1,620  
  4) 1,940  
12.   

 A  B  C  
  (   2543)  

 

 (m  3 
0.2 0.4 

B 
C 

A 
5  105 

 (N/m  ) 2 

) 

2  105 

 
13.   
    1   60 C 
    2   40 C 
    2   20 C 
   50   
  1) 36 C, 2.57  105 N/m2 

  2) 40 C, 0.33  105 N/m2 
  3) 36 C, 0.30  105 N/m2 

  4) 40 C, 2.60  105 N/m2 
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... 

  Snell’s law 

1
2

n
n

  =  
2
1

v
v

  =  
2
1   =  

2
1

 sin
sin

   Snell 

  

 

1.   
 1.  
 
 v = f   v =   m/s 
     f =  /  
      =   
 
  3  ... 
 

   

3  108 m/s v = 331 + 0.6T( C) v = u
T  

 
 2.  
   
   
 
 
 
 
 
 
 
 
  :  

  ...
       

 
  
 
 
 

 

  

... n  n  

.... 

  Snell’s law 

1
2

n
n

  =  
2
1

v
v

  =  
2
1   =  

2
1

 sin
sin

   Snell 
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 (Interference) 
  2  2   2  

  2  
 

 

    
   
 (Antinode) (Node) 
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  2 .... 
   (  P) 

 (Node)   (Antinode)  S1 
 S2 ...  

   P  S1P - S2P = n   

   P  S1P - S2P = 2
1  n -  

 

 
    (Slit)  ...

  
...  2  ... 

 1.  
 2.  1 
 
 

  
d   

  
d   

  
d   

  
d   
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 ....   
( )  “

...”  ... 
 

L = 1 2 , L = 2 2 , L = 3 2 , L = 4 2 , ... 

  = 1
2 L, 2

2 L, 3
2 L, 4

2 L, ... 

 
 ... 
 
 
 
 
 

 

 

 

 

 

 

f = v     

 f =   

 v =  

  =  = 1
2 L, 2

2 L, 3
2 L, 4

2 L, ... 
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2.  

  
   ... f = v/  

    
 

 
 

 

F = v/    L = /4  

  f = v/(4L) 

 

F = v/    L = 3 /4  

  f = 3v/(4L) 

 

F = v/    L = 5 /4  

  f = 5v/(4L) 

 
 
 

    
 

  

f = v/    L = /2  
  f = v/(2L) 

 

  

f = v/    L = 2 /2  
  f = 2v/(2L) 

 

  

f = v/    L = 3 /2  
  f = 3v/(2L) 
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  (Beats) 
 
 
 
 
 beats = | 1 - 2| 
 
 
 

 sound = 
+  
2
      21  

 
 
 
 
  (Sound Intensity) 
         

     
 

    (I)  = A
P

 
=  

2R4
P  

 I    W/m2 P    Watt 
 A    m2 R   
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  =  log I
I  

     10-12 W/m2 
    100 = 1 W/m2  
  I  I  

  
 
 

 

 

  

 

 
 
 
  (Doppler Effects) 
  (

)  /  /
 .....   

 
 
 
 
 
  
 
 
 
 
 
 
 
 
 
 
 
 

 =  

I =  

I  =  

 =  (Hz) 

0 =  (Hz) 
v =  (m/s) 
v

L 
=  (m/s) 

vS =  (m/s)

 = 
s
L

 v v
 v v

-   
f0 
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3.  

  3    Slit ,  

 Slit   

   Slit    

 
   P  

    |S1P - S2P| = n  

   P  

    |S1P - S2P| = (n - 0.5)  

   |S1P - S2P| = d sin  

  I  d  Slit  (L)  Slit 

  II   ... sin   tan  = z/L  
   Slit    

 
   P  

    |S1P - S2P| = n  

   |S1P - S2P| = d sin  

    ... sin   tan  = y/D 

d sin
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v v

  
  
 
 

  
 

  
 

 
 
 
 
 

S
1  S

1  F
1

F)  (S
F  F

F)  S(  S
S    m -

-

  
        

 
 

  

 

 
F =  ,  ,  
S =   /   /  (  Compound Lens) 

S’ =    

 3   
1.   (f)   
2.   (S)   
3.   (S’)   



 

   25 ______________________________   (87) 

 
 

  
 
1.    

  
 (  2553) 

 

  
 

  1)   2)  

 

  3)   4)  

 
2.   T   

  T/   
(  2552) 

  1)     2)  
  3)     4)   
3.      t = 0  

 ( )  0.2   ( )  0.4  
 ( )   12  

/  (  2553) 
 

( )

( )

  
  1) 10    2) 20 
  3) 30    4) 40  
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4.   1,920   2,240  
 640 /   (   2550) 

  1) 0.5 m   
  2) 1.0 m 
  3) 1.5 m   
  4) 2.0 m  
5.   104 - 109  108 - 1012   1014  

  
  (   2549) 
  1)  
  2)  
  3)  
  4)    
6.   1.2   100   3  

 (   2548/1)  
7.    3.14  

 80   (   2548/1) 
  1) 25 m   
  2) 50 m 
  3) 100 m   
  4) 180 m  
8.   f  m   

(   2547/2) 
  1) mf   
  2) (m - l)f 
  3) (m + 1)f   
  4) M2f  
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9.    30  
 2     (   2547/2) 

 

30

  

  1) arcsin
3

1    
 

  2) arctan
3

1

  

  3) arcsin
1  3

1

-    
 

  4) arctan
1  3

1

-  
 
10.   1   

 80   4   
  (   2546/1) 
  1) 20 m/s   
  2) 27 m/s 
  3) 40 m/s   
  4) 53 m/s  
11.   L  2   2  

       
 (   2544)   

  1) 8
L   

 
  2) 4

L  
 
  3) 3

L    
 
  4) 4

3L  
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12.   
  (  

 2544) 
 

  
  1)  
  2)  
  3)  
  4)   
13.    4 

  12 /   
(   2544) 

  1) 1.5 cm   
  2) 3.0 cm 
  3) 4.5 cm   
  4) 6.0 cm  
14.   2  

 6  
 2   (   2544)  

15.    
  v  f  (   2543) 

  1)   v   f  
  2)   v   f  
  3)   f   v  
  4)   f   v  
 
 
  



 

   25 ______________________________   (91) 

16.    
    

 (   2543) 
 

55

35
30

o
o

o

60
o

  
  1) sin 60  / sin 35    
  2) sin 35  / sin 60  
  3) sin 55  / sin 30    
  4) sin 30  / sin 55   
17.   250 Hz 

  
 (   2542) 

 

m

0.6 m   
  1) 50 m/s   
  2) 100 m/s 
  3) 150 m/s   
  4) 200 m/s  
 
 
 
 
 
 
  



 

  (92) _____________________________   25  

18.    r  14  
 344   S 

 D  
 

  
  1) 287 Hz   
  2) 574 Hz 
  3) 718 Hz   
  4) 1,076 Hz  
19.    100   

  99.99%      
 

 

  
 
1.   1   1   

  340 /        
 (  2553) 

 

1 m

  
  1) 80   
  2) 255 
  3) 420   
  4) 695  
 
 
 
 
  



 

   25 ______________________________   (93) 

2.   FM 100 MHz  1 kW 
 100  4,000 Hz 

 100 MHz 
 (  2552) 

  1)  100 MHz  
  2)   
  3)  
  4)   
3.   (  2553) 
  1)  
  2)  
  3)  
  4)    
4.   1   1              

  1  4 
  400   340 

/  (  2553) 
  1) 85.0   
  2) 127.5 
  3) 148.8   
  4) 170.0  
5.   5   100   1  

 (   2550) 
  1) 93 dB   
  2) 83 dB 
  3) 60 dB   
  4) 20 dB  
6.   220   

 100   100  
 10% (   2549) 

  1) 7.9  10-4 W/m2   
  2) 9.0  10-4 W/m2 

  3) 15.8  10-4 W/m2   
  4) 18.0  10-4 W/m2  
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7.   0.5   2.20   2.64     
  (   2548/1) 

  1) 220 m/s   
  2) 440 m/s 
  3) 550 m/s   
  4) 1,100 m/s  
8.   2   1  

 10 /    (
 = 350 / ) (   2548/1)  

  1) 175
165 m   

 
  2) 165

175 m 
 
  3) 175

185 m   
 
  4) 185

175 m 
 
9.   3   120  

  100  (   2547/1) 
  1) 3.6 m   
  2) 4.3 cm 
  3) 10.8 cm   
  4) 30.0 cm  
10.   110.0   110.8   

-   20   
  (   2547/1) 
  1) 16   
  2) 20 
  3) 25   
  4) 32  
11.   25 /   400  

 350 /   
  (   2546/2) 
  1) 76 cm    
  2) 81 cm  
  3) 87 cm    
  4) 94 cm 



 

   25 ______________________________   (95) 

 
12.    17  

 53   450  
 59   99 

  (   2546/2)  
13.    3    . 

 
 (   2546/2) 

  1) 4.3 dB   
  2) 3.0 dB 
  3) 2.3 dB   
  4) 1.2 dB  
14.   80   

 60   (   2544) 
  1) 80%   
  2) 88% 
  3) 98%   
  4) 99%  
15.    10   

1.2  10-2   30   
  (   2544) 
  1) 1.1  10-2 W/m2   
  2)  0.6  10-2 W/m2  
  3) 0.4  10-2 W/m2   
  4)  0.13  10-2 W/m2  
16.   20   2.06  

 (   2543) 
  1) 333 m/s   
  2) 340 m/s 
  3) 347 m/s   
  4) 352 m/s 
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1.  A  B  uA  uB      

 B   
 (  2554) 

 

AU

BU

g

BA

  
  . (uA = uB)  0   = 0  
  . uA = 0, uB  0   = 0   
  . uA = 0, uB  0    0  
  . uA  0, uB  0    0   
 1) .  . 
 2) .  . 
 3) .  . 
 4) .  .  
2.   F  

 
 1) 2F 
 2) F 

 3) 2
F

 
 4) 0 
 
 
 
 
 
 
 



 

   25 ______________________________   (97) 

3.   M1    M2 
  M1 = M2  x ( ) (   2544) 

 

1 m

1 m

1 m

x

M
2

M
1

  
 1) 1  
 2) 2  
 3) 3  
 4) 4   
4.    m  A 

   B  
 

x

x

  
 1) 0.3  
 2) 0.4  
 3) 0.5  
 4) 0.6   
5.   v 

 2v  
(   2546/1)  

 1) 2  
 2) 2  
 3) 2 2  
 4) 4 
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6.  0.5   200   
  (  1,000 ) 

(   2544) 
 1) 0.01 m 
 2) 0.04 m 
 3) 0.08 m 
 4) 0.25 m  
7.  0.2   0.5   200  

  P  37   
 (   2543) 

 
o

37

P

  
 1) 25 N 
 2) 50 N 
 3) 75 N 
 4) 100 N 
8.    

 2  1/2  
 4,000   1,400  

 
 1) 539  
 2) 808  
 3) 1,077  
 4) 1,346   
9.  1  50 dB  dB 

 1) 50 dB 

 2) 60 dB 

 3) 500 dB 

 4)  
 
 
 
 



 

   25 ______________________________   (99) 

10.  2   
(  2552) 

 1) 1.33 
 2) 1.6 
 3) 2.67 
 4) 4  
11.  350   148  

 (   2550) 
 1)  202 J 
 2)  202 J 
 3)  498 J 
 4)  498 J  
12.  100  200   

 200   2.0   
 100  

 1) 1.0 m 
 2) 1.4 m 
 3) 2.0 m 
 4) 4.0 m  
13.   1  2  d  4 

 1  5  2 
 1/ 2  

 1) 9/7 
 2) 7/9 
 3) 9/11 
 4) 11/9  
14.  
 1)  
 2)  
 3)  
 4)  
 
 
 



 

  (100) ____________________________   25  

 
 

 

  

1. 4) 2. 4) 3. 1) 4. 4) 5. 4) 
6. 1) 7. 2) 8. 1225 m/s 9. 1) 10. 148 m 
11. 1) 12. 3) 13. 4) 
 

  

1. 24 N 2. 2) 3. 2) 4. 2) 5. 3) 
6. 3) 7. 3) 8. 2) 9. 2) 10. 1) 
11. 4) 12. 1) 13. 1) 14. 4) 15. 2) 
16. 4) 17. 4) 18. 1) 19. 2) 20. 40 kg 
21. 3) 22. 2) 
 

  

1. 4) 2. 3) 3. 1) 4. 2) 5. 2) 
6. 4) 7. 3) 8. 3) 9. 4) 10. 1) 
11. 1) 12. 3) 13. 0.72 m 14. 2) 15. 4) 
16. 1) 
 

  

1. 2g 2. 1) 3. 250  4. 3) 5. 1) 
6. 3) 7. 2) 8. 2) 9. 50 cm 10. 3) 
11. 1) 12. 1) 13. 2) 14. 3) 15. 1.9 C 
16. 1) 17. 1) 18. 1) 19. 1) 20. 4) 
21. 3) 
 

 (Fluid Mechanics) 

1. 3) 2. 1) 3. 3) 4. 4) 5. 2) 
6. 4) 7. 1) 8. 4) 9. 4) 10. 4) 
11. 1) 12. 2) 13. 880 kg/m3 14. 2) 15. 12 cm 
16. 3) 17. 1) 18. 3) 19. 800 kg/m3 20. 3) 
21. 4) 22. 4)  



 

   25 ____________________________   (101) 

 (HEAT)  

1. 3) 2. 4) 3. 2) 4. 1) 5. 1) 
6. 8 kJ 7. 3) 8. 3) 9. 4) 10. 60% 
11. 1) 12. 30 kJ 13. 1) 
 

  

  

1. 3) 2. 1) 3. 2) 4. 2) 5. 3) 
6. 80 m/s 7. 2) 8. 3) 9. 4) 10. 3) 
11. 2) 12. 2) 13. 2) 14. 6 mm 15. 1) 
16. 3) 17. 2) 18. 4) 19. 60 dB 
 

  

1. 2) 2. 3) 3. 1) 4. 1) 5. 1) 
6. 3) 7. 2) 8. 2) 9. 4) 10. 1) 
11. 2) 12. 500 Hz 13. 1) 14. 4) 15. 4) 
16. 1)  
 

 

1. 4) 2. 2) 3. 2) 4. 4) 5. 4) 
6. 3) 7. 2) 8. 3) 9. 2) 10. 1) 
11. 3) 12. 2) 13. 1) 14. 3) 
 
 

 


